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Problem Definition

● Region indexation

Aveiro: 939 points
Universidade de Aveiro: 169 points

(40.630451, -8.6551867) is inside which organization?



H3 Index

(lat, lon) –> H3 cell



H3 Index Solution

key: h-index
value: (organization, incident_id)

Câmara 
Municipal

Universidade de Aveiro

Incident

Solution:



User:
- user_id
- name
- email
- hash_password
- email_notification_flag

Operator:
- operator_id
- email
- hash_password
- organization_id

Organization:
- organization_id
- language
- region???

Incident:
- incident_id
- category
- main_description
- first_occurence_date
- centroid_location
- location???
- num_ocurrences
- severity
- status

Occurrence:
- occurrence_id
- photo_id
- photo_location???
- description
- date
- user_id
- incident_id
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Architecture


